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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) uiiemel TEuY™ U= U9 U W AT e foe |
Candidate must write first his/her Roll No. on the question paper
compulsorily.
2) =l ye s aAfEmE §
All the questions are compulsory.
3) eI U T ST & T3 IW-Yfeaent ¥ & fored |
Write the answer to each question in the given answer-book only.
4) = ggat # orafies @ug g, 37 @ % I U a9ty g o |
For questions having more than one part, the answers to those parts are to
be written together in continuity.
5) U UH & TE T oS ®ua W ToRE TR Y Jfe / o / fotienwE g W
&=t umer & g W |
If there is any error/ difference/ contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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6) U WEAT 3k Tk U
1-13 1
14 -24 2
25-27 3
28 -30 4
Q. Nos. Marks per question
1-13 1
14 -24 2
25-27 3
28 -30 4

7) uea EwEat 21 aar 27 | 30 W ATaies faeRew gl
There are internal choices in Q.Nos. 21 and 27 to 30.

8) udieT W heTeheled o SUANT st STATT & gl

Use of calculator is not allowed in the examination.

1) 3@ vifas iy &1 T foRa Rrae @ S /g/em™ 2| sarsa 6 ag ufy wfew g =
aAfaor? [Va+1V2=1]
Write the name of physical quantity whose unit is J/C. State whether this quantity
is a vector or scalar?

2) arfa =rereRar @t aftaria i) [1]
Define Super Conductivity.
3) gt % ToTe gerdieR Rt uRwTE feReu| [1]

Write the definition of figure of merit of Galvanometer.

4) UE drggrEha Ut & foru diforen wsh(B-H osk) sAT3a| [1]

Draw hysteresis curve (B-H curve) for a ferromagnetic substance.

5) wcaTEd! g™ S PTER W ¥ I T Ugdd H O §HE |/ hifg| Searerd! SRy 6y
amgfa 50Hz g1 [1]

Find the time taken by alternating current to attain zero from peak value. The
frequency of alternating current is SOHz.
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6) om @ fam fafeu) [1]
Write Malus law.
7) TREt aTg o T wREwER § T aread ¢ ? [1]
What does mean by work function for metals?
8) 10*diee ® w@ia seiag | UFag ¢—FATe al d&d [Td shieTg| [1]

Find the de-Broglie wave length related to an electron accelerated by 10 volt.

9) wekT Ieosieh EAE(LED) s & fofu suam # forl s arer foedt wek stafwfsm

AgaTeAsh &t AW fafan) [1]
Write the name of any one dopped semiconductor used for making light emitting
diode(LED).

10) uewe feete g forad= o dfigran faawor 1 a6 sATsa| [1]

Draw the curve for intensity distribution in diffraction by single slit.

11) T T9H & | T ATAT JT@AT ATHISHAT o ToTT =T UM TUTTeR T W Toha=T gRT ?

[1]

What will be the value of neutron multiplication factor for controlled chain reactions?

12) smam wighea o @1 R sATEA) [1]
Draw a diagram of amplitude modulated wave.

13) =g I fomae TR forRau| (1]

Write any two Maxwell's equations.

14) 10cm Frsan & smafym mefa wivr & 9w W fawa &1 am 50 diee g1 Mol vt o &g
¥ 20cm g8 W Fogga fawa w1 wm s difs) [2]
Electric Potential on the surface of a charged spherical shell of radius 10cm is
50volt. Find the value of electric potential at a distance of 20cm from the centre of
spherical shell.

15) 0°C a19 W Uek ATeteh Rt Ufadrer XQ 1 98 919 7 hifere i W aretes @1 afaie 3XQ
Fl T ¢ ? WTeTeh o1 Tfeier a1a qquries e @ fmest 7 0.4 x 102°C' R) [2]
The Resistance of a conductor is X€2 at 0°C temp. Find the temperature at which
the resistance of conductor becomes 3X€2. The temp. coefficient of resistance for
conductor is 0.4 x 10~ °C! which is constant.
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16) Tore@i™ o fraw T IUATT A TU SEIE TH | hi Tge TTEAT & T ATavash Tfaary

T ki) srravaes gy fos samea| [1+1=2]
Obtain necessary condition for balancing state of Wheat Stone Bridge by using
Kirchhoff's law.

Draw necessary circuit diagram.

17) wrdteR & T o1 STANT od gU 3= oTFaTs oh W18 YRTETEl <ATeTeh o R0l grachrd
& ST TR T ShifeTg| [2]
Obtain an expression for magnetic field due to infinitely long straight current carrying
conductor by using Amperes law.

18) Uk yrrHTH T gfeRier 99C 71 38R YUt Thet W fagiy o 1w srmavars amr 1mA 21 3tz
TR o |1 1 <hT 9102 AT foan S a1 oAt gy Wt AT Hehd atet SAferehaw
&R hT WA ATA | [2]
The resistance of a galvanometer is 99Q. The necessary current for full scale
deflection is 1mA. If a shunt of 1€2 is connected with galvanometer then find the
value of maximum current which can be measured by this galvanometer.

19) a) <ig grachia Uyl & fore sl o i ufeam forlRa)
b) hefia Foragl 1 Yrachia ATYUT AT A o ¢ ShSTeh AT Shitg|
[1+1=2]
a)  Write definition of Curie temperature for ferromagnetic substances.
b) Obtain an expression for magnetic moment of an orbital electron.

20) Ueh SHITRR [0 <hl YSIT <l oIFTS 4m 2 9o a2 2.5 T o Ueh WA Yrachid & | W@ 2|
U o AT Jrachia & T AE I gl ATG 7 2m/s & AT Fraehia & o oreaad T
HIAT g1 G | AT AT @& Al Tk Hehvs qvamd U | Uia foan. o« =1 /@ 7w
i [2]
The length of side of a square loop is 4m. This loop is placed in an uniform
magnetic field of 2.5 T. Outside the loop, the magnetic field is zero and it is
coming out side from magnetic field perpendicularly with velocity 2m/s. Find the
value of induced emf in loop after one second.

21) grESIo Teren B ST SOt <Rt WEnatt o erfirehad @i 35 Ud =Han aieTd ot AT

BIGECTISE] [2]
rora

T eaufaea ufaeyt # afsra writrer! Y w@@am 6 9ve # srua yrferes 7@ 6 6.25% @

Tt 21 Yfeaufaea uftest it org sy 7 Fifm) [2]
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Find the ratio of maximum wavelength to minimum wavelength for the lines of
Balmer series in hydrogen spectrum.
OR
In a radioactive sample the numbers of active nuclei remains 6.25% of its initial
value in 6hr. Find the half life of radioactive sample.

22) ATz Tehtyl fagga weieRtor sgea—=1 shifwe| soeht weraar @ eyt foga gwma &
TEAT hif| [1+1=2]
Derive Einstein's Photoelectric equation. Explain photoelectric effect with help of
this equation.

23) a) AR gR (@R Tw) w Y
b) a1 srESt w1 IuE W fg-fasht vuvg gr (AND Gate) =t uftuer fosr s=mgU0)
[1+1=2]
a) What are logic gates?
b) Draw a circuit diagram for dual-input AND Gate by using two diodes.

24) STTERTIT AT FORUT GRT TARUT i ATURad g qAqT YT Y =13 & 7ed oy wonfud
i) [2]

Establish a relation between maximum distance of broadcast and height of antenna
in space wave propagation.

25) a) eIt hl AL STHAT | FAT AT 8 ?
b) Uw fora 3@ o8 & 20 9 g W W@ B Al o8 g 3 AT AT aredtereh
Tfafera TTed gt § @ o9 hl Wihd g JTd | [1+2=3]
a) What does mean by magnifying power of a Microscope?

b) An object is placed at 20 cm from a convex lens. If 3 times magnified real
image i1s formed by the lens then find the focal length of lens.

26) AT afd A 1 dTcud 2 ? gouHT i ud ATfeha Sua et § gae wArfud hifetg qor
= wifAaR de S @ wEE o fafem) [1+1%+V:=3]
What does mean by mass defect? Establish relation between mass defect and
nuclear binding energy. And hence write the expression for binding energy per
nucleon.
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27) P-N wf&r & Ieshm arfdmfa erfiremerfotes ash utea o & foro wranfires seraen w6t aftay
ICERCEIEY
Ieshn AT bt sremen o P-N i & foru Sepm viswr <t wean ot faferRaa femanferfor
SR EA L
) U W
i) SR A

[1+2=3]
YT

NPN -gifsieer & 3wafiss nan foamam # srfiremneriores sk yta & o forg uftuy fom
FATEY| foRet ZITFel o IWATSS STUR o™ § 8T &N [UITeh qT SHATS Icasish
To=ma | 9T ST T[UTTS o HET HEY €YU hing| [1+2=3]
Draw circuit diagram for a P-N junction to obtain reverse bias characteristic curves.
Explain the phenomenon of reverse breakdown for a P-N junction in reverse bias
state by following processes-
1)  Avalanche breakdown
1) Zener breakdown

OR
Draw circuit diagram for a NPN-transistor to obtain characteristic curves in common
base configuration. Establish a relation between current amplification factors for a
transistor in common base and common emitter configuration.

28) ferga g < fran Kt afvwren forReg| g emafdm <t it v W fogga e we fogga

T & fou s uT i) emavaes foer sAEU) [1+2+1=4]
Jrorat

deatie § wfea et | . areud g ? fag fifvu- “9 i srerent @t e W 3 e

fawa # uftEdHl ST ST TTeTehi hl ATHATAT o SThuTIUTd! grat g1

THET ATATTA HATeAeh A o HRUT fag[a &7 7 h & 7ea o s71ea | [1+2+1=4]
Write definition of electric field intensity.
Obtain an expression for electric force and electric pressure on the surface of a
charged conductor.
Draw necessary diagram.

OR
What does mean by energy stored in capacitor?
Prove that-
"The ratio of change in potentials of conductors after connecting two charged
conductors is inversely proportional to their capacitances".
Draw a curve between electric field and distance for an uniformly charged non-
conducting sphere.

SS-40 -1-Phy.

https://byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJus

The Learning App

7
29) fowe amtr it gorT | gearad! oW Y Uk faviwar va vk g ferfau)

I Shea gk TeATad! 9T URue § fAfeiRaa o ToTu sawies ta <hifsre -

) 9T T ATeIfuTeR W

ii) uftaer w1 gfema

i)  orT T IR we

g Iehea Uiy & ot wifem emea sATsa| [1+2+1=4]
T

g -vifera Toeg ergfta & @ sifiom@ 32 v LCR Sioft ufaer & g Svs <iters 7

T T SH AT T | TedTadl IR & AT o AL oO5h § AV (aeg gt

T | [1+2+1=4]
Write one merit and one de-merit of alternating current in comparision of direct
current.

Obtain expression for followings in a pure inductive alternating current circuit-
1)  Instantaneous value of current
1) Reactance of circuit
i) Peak value of current
Draw curve for power in pure inductive circuit.
OR
What does meant by half powerpoint frequencies.
Obtain an expression for bandwidth in a LCR series circuit.
Show half power point frequencies in curve between alternating current and
frequency.

30) Rt o AfdeRIuT & feTu Tavaer g a1 od feiRa| o & T2 -feere v o safaemm
foresit <At =TSTE T oA AT sosTeh ITH <hifsTg| 7 & T feere e & st ferawur =

AN Wit [1+2+1=4]
ateran

T T YT YT at sht aimr ferRau)| feter fiow g awae giea wehmer ura we

&t wrl-fafer awgnen)| smavae o smTER) [1+2+1=4]

Write any two necessary conditions for interference of light.
Obtain an expression for fringe width in Young's double slit experiment.
Draw curve for intensity distribution in Young's double slit experiment.

OR
Write definitions of plane of vibration and plane of polarisation.
Explain the working process to obtain plane polarised light by Nicol Prism.
Draw necessary diagram.

¢ ¢
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